Seiuence S

@ Suppose F:R—R is such that ()=,
¥(l):3‘+, P(2)=-3, $(3)=2, and £#)=7. What
s 2864

@ What is an ariJrL\me’Hc Sezuence2

wWhats the 10™ +exm of 2,7,12,17,...7
\Whats the Sum 0;3 '}‘)’!Q ;Cirsd- 10 ﬁarms?

@) What is a aqesmetnic Sezuence.?
What's the 160% term of -20,-4, -4 -4 ¢
Whats the Sum of every +erm ! ’



_Egngtm;_
@ Whot ave the itho_d domains  of  Sx3-4y2,72x4 -3
aY\A 31?-—|€14—212+| ?
5x ~10 :

@£(1)=Zx—3 and 3(1):!317. Find 3019(1)

©
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g ‘2 3 4 5

Whats h(2)?

Whats the domain of ln?

er\o\‘l"s ‘Hwe ranse OSI }r]?

Whats the '&—in‘l'efceP‘\’ o the Y"aj)]n of h?
Whot are +he x-in'i'erce?-i-s oﬁ 3.9, jrqj)\« o-f: ln?




Counting _

@ \What does 90F+Tons mu.l'l'i,ol)z‘\ mean?

@ Meatch the number on the ﬁj)\‘i‘ with what it counts on the ldt.

*o?- wa)«s +o o.rfanﬁe __ﬂ_’-__
n_abjects (n-k)!
-#os.\ ways 1o C"\OGSG L OLjed'S l
A n o "
From a set n objects
# o ways ©o choose and arranqe { ™\
7 J \k)

| k o\::\ecl's S:row\ a set OX‘- n o\a)eds

@ Use The Binom‘ml Theocem and PaSCaL’? ﬁianjle
4o write out ( x+*5,)s.



Gra

Graj)\n 31{5,7}—‘752 where j(x)-‘-' 22-8

@ G)f‘o.?\\ +Fhe %"ow?nj -puncl'ions.'

d

@ Graph H[UD—R | HC0=2F

f&)=-3
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